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Math 2250-1
reduced row echelon form
Friday 9/19/08
> with{linalg): #locad linear algebra package
> A:=matrix(3,6,[1,-2,3,2,1,10,2,-4,8,3,10,7,
2,-6,10,6,5,27]); #3 rows, €& columns
#is the dimension, then enter successive entries
#row by row, from left to right

3 6 10 6 5 27
" s rref (A); #get the reduced row echelon form
1 -2 0 0 3 5

¢ 0o 1 0 2 3

_ 0o o6 ¢ 1 -4 7
You can check your hw exercises with technology, very quickly. For example, one of your exercises
this week is 3.2 #17....the original system Is

x, ~4x,—3x,-3x,=4

2x, “6x,=5x,—-5x,=5

3xfm5—4g—5%fh7
Here is the augmented matrix and its reduced row echelon form. From this, read off the solution set!
o> A:=matriX(3,5, [11 —41 *31”31412: _61 '"Sf '575:31' '11 _41 _5:”7] ) H

1 4 3 -3 4

A=12 -6 -5 -5 5

3 -1 -4 -5 -
= rref{A);




